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Note: You have four choices for each objective type question as A, B, C and D. The choice whigh you think is correct,

- Fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the bubbles.

Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be awarded in
case Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 . LA

nH - W’hic‘h qf the tbllpwin‘g is not the characteristics ¢ ».f.-u‘-'"“d AN NN’ T gLt (1)
of phishing e-mail? i '

(A) Official data breach notification {15 desen I

(B) Similar domain of actual website ¢t rs

(C) IT reminder JL»QJJT (D) Email account update .:4;?’;;%(,)../ i
(2) ' is the process of encoding data. o N ¥ 0 @ !
'(A) Integrity P (B) Availability s
©) Cdllﬁdelltiality Sz (D) None of these & (St
(3) The element has contained for Meta L etk (3)
data (data about data). _ )
- (A) <body> (B) <head> (C) <title> (D) <html>
(4) - Tosavethe I—'ITML page, we can used o~ & LS5 {5 HIML o 4
as file extension. - ) i
i’ S S
- @A htmo o B) btml (C) xhiml (D) Both (A)and (B)  usn (B) s (A)
(5) Which symbol is used for connector? : ?“;J et ufd L /;f (;—T
@ O - ®) [ ] © O D) —>
1 (6) ___means to test if the required solution is s T e ey 6) I
there or not. T
(A) Verification T S (B) Algorithm (‘{ A
“ (¢) Validation b v (D) Flow chart ._._,,,‘15,5
@) Which symbol is for AND operator? < ¢ 4'_&,, eSS L it AND  (7)
Ay + B) — < - D) x
(8) = “Itiscold outside” is 3 P
(A) Boolean proposition u’"*)w/?uf;{ (B) Categorical proposition L;."'*#;,;’(j/,y‘ij.u@’
(C) Moral preposition OITRINNS (D) None of these 7 Ve e,
%) How many types of IP address are? . Sl af.'-.'(""’f ui;élIP )
ABY .8 B) 4 (C) 3 ] () 2. ,
(10)  Communication protocol covers ek et Uy J’é < (10)
© (A) Authentication (J.dfest: (B) Error detection tlf}:h"uw
(¢) Correction (/¥ (D) Allthese (U7,
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COMPUTER SCIENCE (NEW COURSE) GROUP-I b - ord (ld ) Pt
TME ALLOWED: 1.45 Hours SUBJECTIVE _@¥l» 145 = =
MAX|MUM MARKS: 40 MTM, ~(~23 40 = A4S l

"NOTE: - Write same question number _.:,‘.Zw)ui'%_{.C”ijo?g‘:-:.b»/.j:Zu'/:’U’rLﬁ%Q((}b? -y
and its part number on answer book, as given in the question paper.
SECTION-| .o

2. Attempt any four parts. . 8=2x4 -ﬁ;}aym&lzuyc_éf -2/?2}!,{ :
(i)~ What is meant by solving problem? » ?'C,J'/(;‘/Gvi-/l,}:p oy
(ii)_' ~What is"meant by underétand_ing a problem? | ?§.Jf/§fc.éxlf/ (i)
(fii) | 'What is meant by strategy "use guess" in defining a problem? Sesl ey AL c8aist AL e | (iif)
(iv). ~ Write the definition of Absent data in your own words. . -me@_u};’J &5%‘_ (iv).
v) . Write down the name of HTML. tags. -u:"leté £ L HTmL (v‘; 
vy 'Whét‘li‘s' th§ difference between ordered and unordered list? v‘aJ/‘W;/’ 53Tt ot 343 (vi)
3. Attempt any four parts. 8=2x4 g fevrlizie § 340w
(iy | IF.‘!:De‘ﬁné Binary Number System. ‘ —{’,—fa.é’/"’d/(@dmgk? @0
() Convert (C921)y to decimal, __ LRy (Co21),g (i)
iy Wri_té.huo differences between memorg; and storage. v g - L f el GsSur. iy
() Make truth table for NOT Operator. | LI L NOT ()
(v) * Define Patent, -l v)
(vi) : .What is'a reason to add captcha on website? ?;,g’l:(d/ s m,.a:/ (Captcha) Ly (vi) . :
4. Attempt any four parts. 8=2x4 -E i linvee 8 _a )y
() Write different types of transmission medium. _ ' -u.‘.’iru’uf"'Jfléfcf’f') NG
(i) . Describe the difference bstween Static and Dynamic IP address. -gfuy.u"}ufui/élq_éfuf E13 s iy .
(i)  Define FTP Protocol. v LIS FTP i
(iv) ‘Describ'e ih‘e differénce between Server system and Client syst;m. -g,fuyd)u:ﬁ A SN, Iy (iv)
W) ' Write narﬁes of two attributes of <img> tag. ’ *qf,’?tégﬁ‘gqﬁlué..g <img> - (v)
(vi)  Write HTML codeltag to make the ward 2/ B HTML L LS italic f "PAKISTAN" 5 (vi)

"PAKISTAN" italic.

SECTION-Il .0

NOTE: Attempt any two questions. 16=8x2 _gi, ;’;;WL:;UW»:_JI ey
5, Co-r’npare verffication and validétion, v VYO RN NS I B TP BN R YPIN -

‘ E"xpla.in with example. . s : ' . T
6. Describe‘in detall the need of computer netwbrk.. ~(,:/€'kaf¢.'/)/;(fbb)%/‘{‘;{ -6
7. E.>q.:>'lain any four types of Cyber Crime. o u;d}tﬁug U Jf(ff'l/}:’lk 7
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TIME ALLOWE’D: 15 Minutes OBJECTIVE u" > 215 = |
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Ao | ABA LN rse S u,juéé.,avéuw{qmw UL D C B A NSy LS
.;.g.;,"lrw -b‘d..lg&:uf/éfufuzﬂfd..);4 )Zjub ..b'mr"’wvliwfluﬁuzfgﬁ..& Jo L L[ﬂ(,b/buk]&...{ < '
Note. You have four cholces for each objective type question as A, B, C and D. The choice. ..u’/ J'f < Ul
whlch you think is correct, fill that bubble In front of that question number, on bubble sheet. Use marker or peﬁ
‘tofiil the bubbles. Cutting or fllling two or more-bubbles will result in zero mark In that question. No credit will be
awarded Ih case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER

“@Nod r | - A

‘o b(1) Numbe; "17" is equal to in binary system. ' -§_t‘nxl/.: L M7 uﬁr’/ A ; ('1)’

(A) 10000 | (B) 10110 . (C) 10100 (D) 10001 .

(2) One Gigabyte Is equal to: ; | a2\ ESL @y
®) (1024)5 Bytes (B) (1024)* Bytes (C) (1024)° Bytes (D) (1024)° Bytes '

(3) .Communlcation protocols covers _______.. : "-.;_ta L . dﬁ}{ w»ﬁ,( (3)

(A) Authentication £/} s9f=312  (B) Correction /(%  (C) Error detection u’p%““ (D) Al these (U,

(4) Which one of the f'ollov,ving is not‘Netw'ork Tobology? ' §.u'“ gAY Okl b (4)
A Bus Topology (j:’};g/ ' ‘ (B) Prétocol Topology d:’ydﬁ:{, |
(C) StarTopology St ,. (D) Ring Topology  GA¢f)

- (5) Wh‘i‘ch one of the following is not a Cybercrime? ?‘auﬁ"f’rf/.’wufc—u: U O
(A) Hacking &k . (B) Identlty theft (.73t (C) Phishing crime #L/LE¥ " (D) Decryption ¢4’ '

(6) is a serious attack on computer system. . - S A «:,:—yu‘f; bﬂff'/f‘&‘/ - @)
(A) Trade secrets JUdJV -~ (B) Sabotage L5Jb/u j (C) Copy right law w/busi,JK (D) Patent 2ok |

- (7) Whtch attrlbute is used to apply background A ?;_mdu&uw,atwfg.&;@;ﬁmf..g‘;z;;*.,/., %)

- lmage- In,webpage?

'(A) Background J:fff..‘é. (B) Text &f (C) Anchor F (D) Al these (U
(8) 'Webpages can be created and modified by using . - bl Jﬂg@z_nz_/dwwk f@'../,, (8)

-
- (A)Notepad ++ . ++j&d  (B)Notepad 4 (C) TextEdit &€ (D) Allthese (UL

9) means to test If the requried solution is there or not. T-u.?’g;.mrd’,#’&ﬁ@;&b’ (9)
(A) Veriﬁcation saSgpy - (B) Algorithm 0 (C) Validation ¢#4s (D) Flow chart L #
(10) Whlch strategy does divide a complex problem into ‘ S‘{._J/(:y Sl L;{fé:’:‘.&d’ e (10)

smaller. problems?
(A) Act it out :«;'L‘AJ ! (B) Divide and conquer W zs,/;b/(::'r (C) P‘?ototype oy

(D) Guess, check and improve uf& ﬁ‘uuf b 'ufﬁo)u’l
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' COMPUTER SCIENCE (NEW COURSE) - GROUP-I -
TIME ALLOWED: 1.45 Hours SUBJECTIVE S 45 = o
- MAXIMUM MARKS: 40 MTps 0 = AF

'NOTE Wnte same question number ..ﬁ:.ba:@;./.élf.ﬂ’c‘: Cu/‘foiul/‘UMﬁuQKd!i ey :}

and Its part number on answer book, as given in the questlon paper.
SECTION:| (Jsle

-Efezliave 3 fi;)z’dfr'

2. Attempt any four parts.

@i
(i)

" ‘Also write hote on any three types of it.

_Wh_at is meant by File Sharing?

8=2x4
()  Describe "Divide and Conquer” strategy. Sl J_/J.’Lzulu_’ff:m i " (i)
(i) Define Verification. | YY) | SR S VPR (W
(i) Draw four flow chart symbols. el S b (i
(v)  Give example of wrong I?ata Format, ,Q:JC‘J;}"M_&LQ} (iv)
(v) Define' Rowspan: _q.’/,y/"'gfuf‘w v
(vi) _ Describe about the singular tags. _éugufe.zyéy@}? (vi)
3. .-,A*tie'mpt any four parts. 8=2x4 -Efe LIz 3 3
() Define non volatile memory and give an example. ~JeLinl Sy ﬂJL{J)‘:J’L'U”L'Jt M.
. () What is meant by the truth values? ' Se sl irks i/ (iiy
(i) Convert-(AB), into'Binary Nur‘nber System. Ak BwdE S (A, (i)
(i\,/)‘ How many Kilobytes are in one Megabyte? St losus L){afu:.a’ VLl (iv)
(v)  Whatis meént by Hard-disk loading? y ‘eolle LHLIY 0 (v)
‘(v.i) ' Explaln Hackmg v _L[/uu:g(..ﬂ;f (vi)
4. Attempt any four parts. 8=2x4 ‘ -g;:’_/fa;tze:lzugaéf ;4/?er ,

Write a note on Bus Topology. -u'."ﬁ,i{‘j.;’yuf (i)
O Ex’pl‘aih Transmission medium. ~J/&’Q)Jﬁ:&’w} (k)
(V)  Define File T}anspon Protocol. RV YA LYY (R
) thich tag Is used for adding image in HTML? St eI GLuid LB HTML v
(vi)  Explain Hyperlink. e § L8Ry i)
SECTIONHI pow> °
_NOTE: Attempt any two questions.  16=8x 2 -é//;uyéammgéf -7 "—
Y eobme b Lyl el oL L SR -wd’,mcx (=S Ay I/ A
’ GSuppose a problem has a muitiple solutions. How would you choose the most sfﬂcrent algorithm
to solve a problem? Explaln with example.
6. Explain Protocol ;n_TCP/IP suit. ';g{wu,‘,(wdﬁ,{ TCPIP .0
. What'da you knm)\}'about Cybercrime? -46.:.‘)“&@:’“0'6/0&! A OSGESL A AL A Y
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